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GXJZ ¢ 100 45° W= 0.9 0.000
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FCOZZTFE (x#thliz ¢ 100TFHE) $ 100 x 75(4>i%4y) 0.9 1 0.440
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P 54+ ¢100 0.9 30 0.870
” GY % ¢100 - 23

P P> $100 0.9 2 0.360
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FCDZIE 0.9 1.000 1 1.000
1.2 1.000 2 2.000
0.000
FCDE GX¥ ¢ 150 45° 0.9 0.470 2 0.940
GXF2 ¢ 150 45° W= 0.9 0.200 2 0.400
FCOm=iEE GXJ ¢ 150 1.2 0.020 1 0.020
FCOm=EE GX#Z ¢ 200 1.2 0.020 1 0.020
FCD#k#R GX#Z ¢ 150 1.2 0.240 1 0.240
FCDZ =% GXF ¢ 150 H=300 0.9 0.820 1 0.820
GX¥ ¢ 150 H=450 0.9 0.000
FCD—2 T2 GXF2 ¢ 150 % 150 0.9 0.710 1 0.710
GX# ¢ 150 x 100 0.9 0.000
FCOZERHE GX#2 ¢ 150 %100 0.9 0.000
FCORZ R &EE GX# ¢ 200 % 150 1.2 0.440 1 0.440
V7 b= AYF XIEBEHIERO AT L M5 ¢ 150 0.9 0.180 1 0.180
U7 Ry — AR EEEREOHE L |EE 150 0.9 0.000
HYIRE - B H=510~690mm - 2
B RIE ¢ 150 - 9
” BFE ¢ 200 - 1
Vi 747 ¢150 0.9 0.000
7 GYU>¥7 ¢150 10
Vi GYU>7 ¢200 1
Rk /S L 780 F7 DIPA ¢ 150 1.2 1




v ' &
GXFZ ¢ 75mm L=4.0m/7&
FOE z9E Z9E ZYIE () % OB Pl
1 1.000 1.500 1.50 2
2
B 2
GX#Z ¢ 100mm L=4.0m/A&
FE Z9E Z9E ZE () % B
1 1.200 2.280 0.520 1
2 1.000 2.290 0.710 2
3 1.000 1.500 1.500 2
4 1.000 1.250 1.750 2
5 1.000 1.250 1.750 2
6 1.000 2.690 0.310 2
7 1.020 2.980 2
8 1.500 2.500 1
9 1.250 2.750 1
10 3.700 0.300 1
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